New York City College of Technology
" MAT 1475 -« Prof. Ghezzi
Exam-1 - Version A - Total Points: 100

NAME: ke\f

Instructions: Write your solutions in the space prov1dec[ after each question. You may
use the back of each page for any scratch work that you need to do. To receive (par’ma,l)
credit you must show all your work in a clear and organized manner.

1. Use the graph below to answer the following questions.
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a) (3 points-no partial credit) lim f(z) = |

T2

b) (3 points-no partial credit) lim f(z}= |
o2+

¢) (3 points-no partial credit) lim f(z) = |
T2

d) (3 points-no partial credit) f(2) = 2

e} (3 points) Is f continuous at z = 27 Justify your answer precisely.
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f} (3 points-no partial credit) lii}n0 flz) =
s

g) (3 points) Ts f continuous at z = 07 Justify your answer precisely.
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2. (4 points) Given that il—% f{z) =5 and ;ﬂg(m} = -2, find ilgé(?g(:c) ~ f{z)g(x)).
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f(= ) =
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For which value of C is f continuous at o = 27
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(4 points each) Evaluate the following limits algebraically. Show your work If the
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9. (20 pomts) a) Find the derlvatwe of f (:c) = 43 -3z + 8 usmg the deﬁmtlon (the
formula w1th hmlt)
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b) Find the equation of the tangent line to f{z) = 42 — 3z + 8 at the point (1,9).
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a) Fmd the 1ntervals where f is continuous. Write the answer in 1nterva,l notation.

6. (20 pomts) Gwen the function flz )

b) Identify the horizontal and vertical asymptotes of the function by calculatlng
the appropriate limits.

¢) Sketch the graph of the function. Graph and label the asymptotes. USe the
graphing paper.
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New York City College of Technology
MAT 1475 - Prof, Ghezzi
Exam 1 - Version B - Total Points: 100

NAME: key

Instructions: Write your solutions in the space provided after each question. You may
use the back of each page for any scratch work that you need to do. To receive (partial)
. credit you must show all your work in a clear and organized manner.

1. (4 points each) Evaluate the followmg limits algebraically. Show your work. If the
limit is not a numbei write “does not exist”.
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2. Use the graph below to answer the following questions
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a) (3 points-no partial credit) 111111 flz)y= 2
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b) (3 points-no partial credit) lim f{z)= |
z—1+
= TDNE

¢) (3 points-no partial credit) lim1 f(z)
I

d) (3 points-no partial credit) f(1} = 1

e) (3 points) Is f continuous at x = 17 Justify your answer precisely.
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£} (3 points-no partial credit) lin}J flz)= 0O
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g) (3 points) Ts f continuous at @ = 07 Justify your answer precisely.
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(4 points) Given that 11;1}l flz) = —3 and 31:1_I}r};g(fc) =5, find lllﬁ(f(x)g(m) + 2f(x)).
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5. (20 points) &) Find the derivative of f(z) = 3z% — 2z + 1 using the definition (the
formula with limit).
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b) Find the equation of the tangent line to f{z) = 3% — 2z + 1 at the point (2,9).
p

slope = £1[2) = 6[2)-2 =10
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6. (20 points) Given the function f(z) =

z?—25
2244z -5

a} Find the intervals where f is continuous. Write the answer in interval notation.

b) Identify the horizontal and vertical asymptotes of the function by calculating
the appropriate limits.
c¢) Sketch the graph of the function. Graph and label the asymptotes. Use the

graphing paper.
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